ES WINDOW INC.
ES-PGD3040 GARAGE DOOR - N.I.

GENERAL NOTES:

- THIS PRODUCT HAS BEEN DESIGNED AND TESTED TO COMPLY WITH THE REQUIREMENTS OF THE
7TH EDITION FLORIDA BUILDING CODE (2020)/ 5TH EDITION FLORIDA BUILDING CODE (2023), NOT
INCLUDING HIGH VELOCITY HURRICANE ZONE (NON-HVHZ).

- DOORS ARE RATED FOR NON IMPACT. IMPACT SHUTTERS ARE REQUIRED WHEN USED IN HVHZ.
- DOORS ARE NOT APPROVED FOR WATER INFILTRATION.

- ANCHORS SHALL BE AS LISTED, SPACED AS SHOWN ON DETAILS.
ANCHORS EMBEDMENT TO BASE MATERIAL SHALL BE BEYOND WALL DRESSING OR STUCCO.

- ANCHORING OR LOADING CONDITIONS NOT SHOWN IN THESE DETAILS ARE NOT PART OF THIS
APPROVAL.

- MATERIALS INCLUDING BUT NOT LIMITED TO STEEL/METAL SCREWS THAT COME INTO CONTACT WITH
OTHER DISSIMILAR MATERIALS SHALL MEET THE REQUIREMENTS OF THE 7TH EDITION FLORIDA
BUILDING CODE (2020)/ 8TH EDITION FLORIDA BUILDING CODE (2023) SECTION AS APPLICABLE.

- METAL STRUCTURES BY OTHERS TO BE DESIGNED TO SUPPORT THE LOADS IMPOSED BY THIS
GLAZING SYSTEM AND TO TRANSFER SUCH LOADS TO THE BUILDING MAIN STRUCTURE.

- MANUFACTURER'S LABEL SHALL BE LOCATED ON A READILY VISIBLE LOCATION IN ACCORDANCE WITH
SECTION 1709.9.3 OF FLORIDA BUILDING CODE LABELING TO COMPLY WITH SECTION 1709.9.2.

- ULTIMATE LOAD OBTAINED FROM ASCE 7-1¢/ ASCE 7-22, MULTIPLY BY O.6 SHALL BE LESS THAN
OR EQUAL TO MAX. DESIGN LOAD IN THIS DOCUMENT. THE DESIGN LOADS SHOWN IN THIS
DOCUMENT ARE ALLOWABLE DESIGN LOADS.

USE CHARTS AS FOLLOWS.

DETERMINE DESIGN WIND LOAD REQUIREMENTS BASED ON WIND

VELOCITY, BLDG. HEIGHT, WIND ZONE USING APPLICABLE ASCE 7-16/ ASCE 7-22

SEE SHEET EI FOR TYPICAL DOOR ELEVATION. SEE SHEET G FOR GLASS OFTIONS.

SEE SHEET Al FOR ANCHOR OPTIONS. SEE SHEET E2 FOR NUMBER

STEP | :
STANDARD OR WIND TUNNEL REPORTS.
STEP 2:
STEP 3:
OF ANCHORS REQUIRED.
STEP 4:

THE LOWEST VALUE RESULTING FROM STEPS 2 ¢ 3 THAT EXCEED THE DESIGN

WIND PRESSURES DETERMINED THRU STEP | SHALL APPLY TO ENTIRE

SYSTEM.

#301

330

pl
o)
mey@meyengineering. com

MCY ENGINEERING, INC.
GLAZING CONSULTANTS

M 2781 MIRAMAR PARKWAY
MIRAMARI, FL.
www. MCYEngineering. com

127

@

M

ABBREVIATIONS AND SYMBOLS

D.L.O. - DAYLITE OPENING

F.A.
F.W.
W/
W/O
O.C.

- FRAME HEIGHT SECTION NUMBER

- FRAME WIDTH
- WITH

- WITHOUT
- ON CENTER

SHEET NUMBER

LIMITATIONS OF USE _
A- THIS PRODUCT EVALUATION Z
DOCUMENT (P.E.D.) PREPARED BY !
THIS ENGINEER IS GENERIC AND Y
DOES NOT PROVIDE INFORMATION e) —
FOR A SITE SPECIFIC PROJECT; i.e. ol .o
WHERE THE SITE CONDITIONS O
DEVIATE FROM THE P.E.D. o = 5]
wi = A 2
B- CONTRACTOR TO BE olag 2 gk
RESPONSIBLE FOR THE = o @ N
SELECTION, PURCHASE AND < 0 »n <
INSTALLATION OF THIS PRODUCT x| o 2 9 g
BASED ON THIS <3 Io ~
PRODUCT EVALUATION PROVIDED Ol Z2 5 = 8
HE/SHE DOES NOT DEVIATE FROM ol = w z @
THE CONDITIONS DETAILED ON S|l - = 23
THIS DOCUMENT. ol N o = o
O w8 =
C- THIS PRODUCT EVALUATION a S
DOCUMENT WILL BE CONSIDERED 0] -
INVALID IF ALTERED BY ANY
MEANS. o
D- SITE SPECIFIC PROJECTS SHALL $
BE PREPARED BY A FLORIDA
REGISTERED ENGINEER OR
ARCHITECT WHICH WILL BECOME
THE ENGINEER OF RECORD
(E.O.R.) FOR THE PROJECT AND
WHO WILL BE RESPONSIBLE FOR
THE PROPER USE OF THE P.E.D
ENGINEER OF RECORD, ACTING
AS A DELEGATED ENGINEER TO
THE P.E.D ENGINEER SHALL
SUBMIT TO THIS LATTER THE SITE
SPECIFIC DRAWINGS FOR REVIEW.
©
E- THIS P.E.D. SHALL BEAR THE DATE gl s
AND ORIGINAL SEAL AND ol &
SIGNATURE OF THE 21 3
PROFESSIONAL ENGINEER OF S
RECORD THAT PREPARED IT.
FLORIDA APPROVAL: ) S
s]s°
FL# 41580.2 g
. S
N ]
8
T Lidlil l- " N
N :
Rige WA oA, lés
L
\*&%H f\‘”O& Drawn Date Drawn By
SAN B 455983 %, .2
-~ ..' N\ g o, A 06.07.2022 James
S SVCANgE8877 B %
= & W / L3, DRAWING NO.
=, =
Sxi g/ * 5| AD22-14
= % =
- L]
2057 /61 S
% £ &
A S cover
Y4, SSIONP‘ W
“"""1“‘ Sheet No.

September 01st, 2023

1 OF 11




PGD 1600 ¢ 1610
W/ (6) #14X 1" HWH

SDS WITH RUBBER —, 4],

2

WASHER AND NUT /\

FRAME WIDTH SEE CHART BELOW

D.L.O. W SEE SHEET G| 3 1/4" D.L.O. W SEE 41/

LS

SHEET G|

3
- -
J = i = -
F ~NF| - -
PGD 1400 ¢ 1410 " ] a3
W/ (6) #14X 1" HWH o 2\ _ o/ blo 2 "
SDS WITH RUBBER | NE OR/\ ol . = "l=
WASHER AND NUT — \_ _ — —~ | . Sr FE
- . orr \D3 /| - o|” 3 - 2|
= = = —r = = = Fard > 8 E| s
¥ o/ - - ! =
i PCD 1110 _>— 7 L5 o o
W/ (6) #14X1" HWH SDS WITH™ = || =
PGD 1300 ¢ 1310 DI o — % -
W ©) F 1A% 1" RUBBER WASHER AND NUT S8 4 o @ <
SDS WITH RUBBER - S0 = 5 @ z
WASHER AND NUT =~ — — ~ - [7 = = < N =
\E= = o
PGD 1900 | wl_ =
W/ (6) #14X 1" HWH "o 5
SDS WITH RUBBER — |- i
N i
WASHER AND NUT ~~o — — \\/:j /2 [ ol = =
' 2O = >
N \D2/ o '
PGD 1200 ¢ 1210 / s = = = = = = = — = = Al f% 5 =
W/ () #14X 1" HWH /k\i[} Y = = = = = = = = i o) OO
SDS WITH RUBBER ~ _ I | Qlz 6
WASHER AND NUT = 3 Q) g =R
I |- =52
| dim o
m o/ ol & 9z 88
| ] —ln = ol 2 8 Y
4 I | ] &) < =L 2 e
PGD 1810/ 1820 b - 9| =uwsS
£ 1830, 1840 \ ] 3la g =E
W/ (G) #14X1" HWH— ~ "] al = 8
SDS WITH RUBBER % D.L.O. W SEE SHEET G| O
WASHER AND NUT o
THE AMOUNT OF CENTER HINGES (PGD-1 | 10) SHOULD BE: o
- 5 ACROSS EACH SECTION FOR FRAME WIDTH < | 44",
- 7 ACROSS EACH SECTION FOR FRAME WIDTH < | 94",
- 9 ACROSS EACH SECTION FOR FRAME WIDTH <240".
DESIGN LOAD CAPACITY-PSF
(GLASS TYPE AND CAPACITY SEE SHEET G1)
LAY A TYPICAL EXTERIOR ELEVATIONS i
: : DESIGN LOAD gl s
T STty |HeiGr cry | EXT-(H) INT.0) DESIGN LOADS: +28/-34 PSF gl ¢
(FOR SIZE SHOWN ABOVE OR SMALLER AS PERMITTED BY FBC) &
240 2 1/2 +28/-34
4 216 124 1/2 +28/-34 FLORIDA APPROVAL: é %5
240 139 1/2 +28/-34 FL# 41580.2 gl .
> 216 154 1/2 1 28/-34 gl s
240 166 1/2 +28/-34 MRinc WA A, glas
G \swgéﬁ AT'& Drawn Date | Drawn B
216 184 1/2 +28/34 SAN\BF 455583 %, .2 '
-~ ..' \ # 4 A 06.07.2022 James
] 240 193 1/2 +28/-34 ¥ : SRAWING NG,
216 214 12 +28/-34 S«i ADZ22—14
240 220 1/2 +28/34 EKY
8 2
216 244 1/2 +28/-34 2 B EL Q! E1
240 247 1/2 +28/-34 0,0 S1ON
9 “"""1“‘ Sheet No.
216 274 1/2 +28/-34 September 01st, 2023 2 OF 11

#4301
mey@meyengineering. com

GLAZING CONSULTANTS

MCY ENGINEERING, INC.




HORIZONTAL TRACK.
SUPPORT BY OTHERS,

CENTER REQD. ON DOORS \

EXCEEDING & FT. IN HEIGHT

OPENING HEIGHT

7777777777777 ﬁ:ﬁ - T T T T el
——— === = = = = = ==

\
| HORIZONTAL LENGTH
| é (BACKROOM: DOOR HEIGHT + 21")
| 477
\
41 TYPICAL ANCHOR OPTION
\ | SEE SHEET Al
|
‘ —
\
7L
\
| 7]
I
T 20
| ©©
=T 1/4"5.5. Bolt
| / @10"O.C.

F—F1

0 Q ‘

o)

°L |

T
N 4

o || +—=t

| .
—x

TRACK CONFIGURATION

VERTICAL LIFT

ORIZONTAL TRACK
SUPPORT BY
OTHERS,

ORIZONTAL TRACK
SUPPORT BY
OTHERS,

HIGH LIFT

TRACK OFTION

STANDARD LIFT

SUPPORT BY
OTHERS,

271 0117

305

P:

mey@meyengineering. com

33027

MCY ENGINEERING, INC.
GLAZING CONSULTANTS

781 MIRAMAR PARKWAY #301

M /
www. MCYEngineering. com

MIRAMARI, FL.

127

@

M

ORIZONTAL TRACK
z
1
x
3l .6
8l Quw
Z O
w = o 2
Ol g &Kk
<| = o 53
xS % 3§
<3 o &
o|sSwz®
< .= S
Sog=e
a} 8
0 —
A
[9)]
(1]
&
FLORIDA APPROVAL: 8 %5
. § s:
Rl WAN A, ¥|ée
¢¢WH ‘s\'TI ) Drawn Date Drawn By
3-\.-:%& #5;a s *'o' 06.07.2022 James
l. -
é? :- “élgs 77 E_ DRAWING NO.
Skt 7/ % ADR2—14
- ]
2057 /&1
[ *s .
"lp A‘.- FLO%". \‘ E2

"n-u- % "}

%, 88 AN
"""ﬁ: Rmt““‘

September 01st, 2023

Sheet No.

3 OF 11




I E
z
. 0 0| =
0:  7|:
Z< Sz
Q= |z
20 =259
09 =3z
W< ==
4 = c
/4" CLEAR HS GLASS 5 © 258
0.090" SAFLEX PVB — 1/4 CLEAR TEMP GLASS s = |z
BY EASTMAN CHEMICAL CO. LAMINA 1/8" T ElC
I/2" AIR SPACER =3¢
/4" CLEAR HS GLASS k=
— /4 CLEAR TEMP GLASS ALU-A-O | =
ES-ELI00-GO2A S - ==
l ES-ELIOO-COZA S TOR#G x 3/8" P.H. @ =
ALUM SPACER @ =
ES-PGD3040-GO3 S TOR#6 x 3/8" F.H. z
N b ES-PGD3040-GO3 S 3
@;;%xo/_jiéﬁ . [ ) TOR#G x 3/8" F.H.
- g i o
S5 @ ES U75@§?/E(}2(13|AN? S DOWSIL 983
DOWSIL 983 WL
[ ——=—_ | W= TGT-1818 >
EXTERIOR < > DOWSIL 983 EXTERIOR '
)k é ﬁ\ E5-U7530 BOIA S g _
— @1/4 POINT 8 .5
GLASS TYPE 'G3' GLASS TYPE 'G&' GLASS TYPE 'OP' o2y -
G3 GG OP 0l s 2 gk
9/16" NOMINAL OVERALL " NOMINAL OVERALL I 5/16" NOMINAL OVERALL < % 5 5 E
a3z
O E g s 2
=25
3leg "B
W o
DESIGN LOAD CAPACITY-PSF 8 2
o
%
MAX. DIMENSIONS. DESIGN LOAD Ll
CLASS TYPE EXT.(+) INT.()
DLO.W (INCH) | DLO.H (INCH)
I35 22 1/2
G3 +60/-65
119 25 1/2
185 7/5 22 1/2
G6 +28/-34 gl ¢
|64 25 1/2 iR
231 22 1/2 °
OP +28/-34 Norg
207 25 1/2 ' FLORIDA APPROVAL: s,
GLASS COMPLIES WITH ASTM E | 300-09 H S
(3 SEC. GUSTS). FL# 41580.2
e WA, e
¢¢‘@%H ‘\Tl' 3 Drawn Date Drawn By
3-&.\..-:%&_ #55 *e *'o' 06.07.2022 James
.'."? :‘. N b ?.-_ DRAWING NO.
g¥i ADRR2—14
%00t G1
)
“ "lﬁ'llo'lﬁ“‘ Sheet No.
September 01st, 2023 4 OF 11




TYPICAL ANCHOR TYPES:

TYPE "A": 5/16" DIA. ULTRACON BY 'DEWALT' (Fu=177 K5I, Fy=155 K5I)
THROUGH | BY WOOD BUCK OR 2 BY WOOD BUCKS
OR DIRECTLY INTO CONCRETE

WITH 2" MIN. EMBED INTO CONCRETE (fc=3000 PSI MIN.) G
TYPE "B": 5/16" DIA. TEKS SCREW/ DRILL - FLEX (GRADE 5) (Fu= 120 KSI, Fy=92 KSI)
INTO STL.(A36 MIN. /4" THK. MIN.)/ ALUM.(6063-T5 MIN. I /4" THK. MIN.) @ @
(STEEL IN CONTACT WITH ALUMINUM TO BE ISOLATED OR PAINTED) )
I 9/16"
TYPE 'C": 5/16" DIA. ULTRACON OR LAG SCREW (Fu=120 KSI, Fy=92KS) o .. ] 1 1/ < o).
INTO WOODS (G=0.55 MIN.), 2" PENETRATION MIN. g?C L
£ CONCRETE
TYPICAL ANCHOR EDGE DISTANCE: |5
INTO CONCRETE = 3 1/8" MIN. 2
INTO WOOD STRUCTURE = | 1/4" MIN. g
INTO METAL STRUCTURE = 3/4" MIN. o :
L MIN. EDGE DIST.
I 9/1&"
" I 1/8" @ @
ANCHOR @8
O.C. < an ”
= =
I'¥G" OR |'X&" ’/ = = ‘
OR 2IIX6H OR 2” X 8” Z é § CONCRETE
WOOD BUCK =g = L
> S
i S
V
g’

MIN. EDGE DIST.

271 0117

P: 305

mey@meyengineering. com

GLAZING CONSULTANTS

MCY ENGINEERING, INC.

=
5 Z 5
c S £
~ ™
=4
C I =
=zl s
_ =28
| 9/1¢" s 2| 2
~ x| C
0.C. - o i
- WOOD sl | =
o STRUCTURE I@ =
S|=
=i =] :
B =
>
) w
]
,‘; MIN. EDGE DIST. ﬂL
z
x
3l .6
o8y
w = o 2
Ol E 38X
O < =ao 5 4
XfoO > o
<3z 2
ol=w <
< .= S
o N o L
C 21 |g=g F
Lone | g
1" (/I)
o.C. — o
/
STL. STRUCTURE
OR ALUM.
MIN. EDGE DIST.
FLORIDA APPROVAL: 8 %5
v, i
A & ©
¢¢‘M§%H £\T|' ) Drawn Date Drawn By
3-&.\..-:%&_ #55 g *e *'o' 06.07.2022 James
g :-' N' i 77 ?.-_ DRAWING NO.
L H ADZR2—14
)
% A1

(/

September 01st, 2023

Sheet No.

5 OF 11




0.10" THK., CONTINUOUS
S5 PLATE (Fy=45KSI MIN.) [ g:
/4" 5.5. Bolt
@10 o.C.
0.09" THK., CONTINUOUS
55 PLATE (Fy=45KSI MIN.)

APPLY SILICONE FOR A
BETTER FIXATION OF THE -

REINFORCEMENT

TYPICAL ANCHOR
REFER TO SHEET Al

AR, ;

b

A

\J
TAY

€

O
R

O. 10" THK., CONTINUOUS
55 PLATE (Fy=45KSI MIN.)

1/4" 5.5, Bolt
@10 0.C.

I 1/1e"

| 18"
janany —
il CONCRETE CONCRETE
= :
= e |~
52 =
0 = <P I, g
— 4 172" Yy
I MIN. EDGE DIST. / / \

3/1&" DIA. ANCHOR WITH
I"MIN. EMBED. &" FROM
CORNERS.@24" O.C.

&/

717\ DETAL
\o/

S

/" 3"\ DETAL

mey@meyengineering. com

9)
Z
)
0r -
2L -«
mf)l‘d‘
o
HJJZ4
0 =
20 =5
— < S
N .
ws ==
0 =
6) _
- ®

MIRAMARI,

@

M

M /
www. MCYEngineering. com

0.09" THK., CONTINUOUS
/55 PLATE (Fy=45KSI MIN.)
APPLY SILICONE FOR A =
BETTER FIXATION OF THE Z
REINFORCEMENT o
O =
ol .o
TYPICALANCHOR | A| &
REFERTOSHEET All | £ 2
- ~
118 Ol 3Kk
< =Z>o 5 3
Y| o > o «
Al <| O << 4 ©
T
=/ Ol£0 =g
== = ol =T wze
=21 & < - = S
= 1= Q| N x w
= Z|I8 ™| w £ =
= =g ] 3
= = o T
= : a
=_ | n
V L
%/1 6" DIA. ANCHOR WITH
I"MIN. EMBED. &" FROM
CORNERS.@24" O.C.
&
FLORIDA APPROVAL: ils.
. § ;:
Rl WAN A, ¥|ée
\*&Q{Hﬁg/ﬂ-l Di Date D By
‘ \ .. .' ' rawn rawn By
3-\..-‘\%& #55983 ", *'o' 06.07.2022 James
] -
.'."? :‘ N ¥ E_ DRAWING NO.
g¥i ADRR2—14
- ]
- L]
5‘:0
X R D1
Ss
/] 'llll?lﬁ“ Sheet No.
September 01st, 2023 6 OF 11




0 : 5
0\ Z S ::Sb
= 3/16" DIA. ANCHOR WITH GE =
= E - I"MIN. EMBED. 6" FROM Z< . <
s §/ CORNERS.@24" O.C. f ) E K % Ei
oo @ mll | e THIENE
£9 - \i & OPTION A L-D(ZD ig g
EIO Lﬂ L :\_/ | o ﬁ P
— _*E o =l E’)I = e
@/ | I =H - IE} @ == = M2 B =z(¢
| R _— s &P 3 ? 2 :
e | :
- - :
O— —]
OPTION@\ s @/
./ OPTION@/ o -
82
/17 pETalL E2) /"2 peTalL m| 29 e
© _ | \0z/ D2 _J OFTION g iR
OPTION — Qx99
@\ 5|23%g
&) oS wzt
Sl v e o
(r—— Blug
8] €
@\ A 8
@\ OPTION@/
@
@ &
@/ FLORIDA APPROVAL: 552
& @— FL# 41580.2
OF’TION./ ) 5| °
o ® I
5| 2"\ peTalL ' /" 3"\ DETAL S
e QZ/ Q_Z/ DRAWING NO.
Y AD22-14
D2
September 01st, 2023 7 Shg:. 11




ENG,

O.10" THK., CONTINUOUS

N
55 PLATE (Fy=45K3l MIN.)\ \

el

/4" 5.5. BOLT

AT 4" FROM BOTTOM,

\J
TAY

@10"O.C.

0. 10" THK., CONTINUOUS

55 PLATE (Fy=45KSI MIN.)

1 "
[ I e

(I

I

0.09" THK., CONTINUOUS
S5 PLATE (Fy=45KSI MIN.)

€
Q
@

CONCRETE|

LI A

MIN.
EDGE DIST|

MIN
EMBEDMENT  H
<[
B
— )
N
R

DLO.W

3/1&" DIA. ANCHOR WITH
["MIN. EMBED. &" FROM
CORNERS.@24" O.C.

717\ DETAL

D3 / 3" TRACK
OFTION

/4" 5.5. BOLT

AT 4" FROM BOTTOM,

@10"O.C.

O. 10" THK., CONTINUOUS

55 PLATE (Fy=45KSI MIN.)

(

/4" 5.5. BOLT @
AT 4" FROM BOTTOM,
@10"O.C.

0.09" THK., CONTINUOUS
S5 PLATE (Fy=45KSI MIN.)

| 9/16" L
I 178"

!

C@@C@W

©

CONCRETE

111
1l

Loz

G.B

/16"

MIN.
EMBEDMENT

)

—
N~
I~
—_—
~~
—
~
—
~
—
~
—
—
—
~
—
~
—
~
—
=

MIN.
EDGE DIST.

<

4/1/2" /
3/16" DIA. ANCHOR WITH

T v v v o e

CORNERS.@24" O.C. OPTION

m DETAIL
@ 2" TRACK

OPTION

271 0117

305

P:

mey@meyengineering. com

7

33027

MCY ENGINEERING, INC.
GLAZING CONSULTANTS

781 MIRAMAR PARKWAY #301

MIRAMARI, FL.

127

@

M

M /
www. MCYEngineering. com

z
1
x
3l .5
8l Quw
Z O
T 2
DLO.W 92z 38k
< =ao 5 4
XfoO > o
ol=w <
< . Z = _j
3leg "B
™| w
a) S
0] -
A
[9)]
L
] I
&
FLORIDA APPROVAL: 8 P
H E
. § ;:
i WAN P, 2lés
¢¢WH ‘s\'TI ) Drawn Date Drawn By
s-l.f\ﬁ_ #55 s *'o' 06.07.2022 James
~ & VCA. -
s LR E_ DRAWING NO.
L H ADZR2—14
- -
- L]
5‘:0
% D3

September 01st, 2023

Sheet No.

8 OF 11




0.09" /

2 R

3

HEAD/SILL FRAME

ES-PGD3040-00 |
ALUM.6063-T6

El

3.68"

l.5¢"

£2

HORIZONTAL INTERMEDIATE

ALUM.6063-T6

ES-PGD3040-002

CENTER SUPPORT

£3
ALUM.60E3-T6

ES-PGD3040-003

0.0¢"
q _ 1.33"
O
[\~ —N
0.0¢' ‘:I Y
13" |
GLASS STOP EXTERIOR

GLASS SUPFPORT INTERIOR

6“) 7/, 6” 9/' 6“

£4

ES-PGD3040-004
ALUM.6063-T6

F9 SEAL SUPPORT

o.1"

ary

2 5
2.99"

gl

EE EC FOR GLASS OF 9/16" - FOR GLASS OF 5/1
© iﬁbﬁlé%%go{g% ES-PGD3040-006
0.09" : - ALUM.E0G3-T6
S = S = 0.06"
0 [Te}
(@) N~
2.8" |.25" /{L&
|.3"
SUPPORT VERTICAL/HORIZONTAL

GLASS STOP EXTERIOR

3.87"

ES-PGD3040-01 |
ALUM.6063-T6

ALUM.6063-T5

ES-PGD3040-019

E8 FRAME JAMB

ES-PDG3040-009
ALUM.606E3-T6

GLAZING CONSULTANTS

MCY ENGINEERING, INC.

781 MIRAMAR PARKWAY

127

4301

330

2
5]

MIRAMARI, FL.

Y|

F

I®

mey@meyengineering. com

www.MCYEngineering.com

) _
N ‘ o Ty -
@) |.87" (() ol T = - N—— n [19] @
;;IF& ] 5 o o j N N j 9.97 0.04' [ - :r S
o : — s O o | :
o |1.0¢" © o ag 8 ” |
) ' | 133 | b71] .
q VERTICAL/HORIZONTAL COVER N SWEEP HEAD £ SILL PLATINA SPACER JAMB D GLASS SUPPORT INTERIOR GLASS SUPPORT INTERIOR. TUBULARES PARA LAMINA ESCUADRA ENSAMBLE TUBULARES
N _
ES-PGD3040-012 ES-PGD3040-013 ALU-P-020 ES-PGD3040-024 19 FS-PGD3040-025 e8Te ALU-A-O1 | z
ALUM.6063-T5 ALUM.6063-T5 ALUM.6063-T5 ALUM.E063-T6 ALUM.COG3-TG ALUM.G0OG3-T5 ALUM.6063-T6 EI
. 12" 8 5
y = i - 0.07" = ; = 0.89" 5
0.07 | lK\O 0.07" E 'lk\g 0.07" Ly U‘Q -JHEE‘ [&\0 O'O77F|h g w- N R a 2 lElDJ e
i I N E ol O.O77 L [&\0 o g % 2 E
31 e 3 4 .34 IEIL I - MR
0.1 <l Q35T o
£3)CLASS STOP EXTERIOR 2 GLASS STOP EXTERIOR GLASS STOP EXTERIOR GLASS STOP EXTERIOR GLASS STOP EXTERIOR GLASS STOP EXTERIOR ) % 3 <2
JES-PGD3040-020 ES-PGD3040-01 4 O ES-PGD3040-007 ES-PGD3040-016 ES-PGD3040-022 ES-PGD3040-0186 Q= 2 =7
ALUM.GO63-T5 ALUM.GOE3-T5 |} @ 2 ALUM.c063-T6 ALUM.G063-T5 ALUM.E063-T5 ALUM.6063-T5 = 3 e = w
A S
8 =
: : A '
o Ny N\ L Z | S (4]
S LF = w
« L 5
SHORT BRACKET | LARGE BRACKET 2 OINTERMEDIATE | SHORT BRACKET 2 LARGE BRACKET 3 ~OHORT BRACKET 3 LARGE BRACKET 4 \ SHORT BRACKET 4
PGD I 10 PGD 1200 ES-PGD3040-010 PGD 1210 & PGD 1300 & PGD 1310 &, PGD 1400 & PGD 1410
STAINLESS STEEL STAINLESS STEEL ALUM.6063-T6 STAINLESS STEEL STAINLESS STEEL STAINLESS STEEL STAINLESS STEEL STAINLESS STEEL
A Iz o x :
TOP BRACKET TOP ROLLER HOLDER POTTOM BRACKET BOTTOM BRACKET HEAVY DUTY INSIDE FLORIDA APPROVAL: 15
LEFT HAND SIDE RIGHT HAND SIDE (5)BOTTOM WHEEL HOLDER | “NPIN + RETAINER | @-\DEADLOCK FL# 41580 2 218
PGD 1600 PGD 1610 PGD 1810 PGD 1820 PGD 1830 PGD 1840 PGD 1900 ) gl .
STAINLESS STEEL STAINLESS STEEL STAINLESS STEEL STAINLESS STEEL STAINLESS STEEL STAINLESS STEEL STAINLESS STEEL gl 8
] ol glss
3 - 250” k = 2 75 4 2 - 240 "3 g Drawn Date Drawn By
N = ﬁ s _ " ‘;:]‘k:. — @) \ 06.07.2022 James
e} J i ) T S - O, DRAWING NO.
¥ O : O
o ADZ22—14
3 3" WHEEL ASEMBLY 3 DOOR TRACK INSTALLATION ANGLE 3 TRACK BRACKET DOOR TRACK FOR 2" WHEEL 3 2" WHEEL ASSEMBLY
PGD 8300 2015 2015B 2016 2017 PGD 8200
STAINLESS STEEL STAINLESS STEEL STAINLESS STEEL STAINLESS STEEL PARTS

September 01st, 2023

Sheet N

0.

9 OF 11




BILL OF MATERIAL

CODE PART DESCRIPTION MATERIAL
E1 ES—-PGD3040—-001 HEAD /SILL FRAME 6063—T6
E2 ES—PGD3040—-002 HORIZONTAL INTERMEDIATE 6063—T6
E3 ES—PGD3040—-003 CENTER SUPPORT 6063—T6
E4 ES—PGD3040-004 SUPPORT 6063—T6
E6 ES—PGD3040—008 GLASS STOP EXTERIOR FOR GLASS OF 9/16” 6063—T6
E7 ES—PGD3040—-006 GLASS SUPPORT INTERIOR FOR GLASS OF 5/167, 7/16", 9/16” 6063—T6
E8 ES—-PDG3040-009 FRAME JAMB 6063—T6
E9 ES—PGD3040-011 VERTICAL/HORIZONTAL SEAL SUPPORT 6063—T6
E10 ES—PGD3040-012 VERTICAL/HORIZONTAL COVER 6063—T5
E11 ES—-PGD3040-013 SWEEP HEAD & SILL 6063—T5
E12 ALU—-P-020 PLATINA SPACER JAMB 6063—T6
E18 ES—-PGD3040—-024 GLASS SUPPORT INTERIOR 6063—T6
E17 ES—-PGD3040-019 GLASS STOP EXTERIOR 6063—T5
E19 ES—PGD3040-025 GLASS SUPPORT INTERIOR 6063—T6
E20 ES—-PGD3040-010 INTERMEDIATE 6063—T6
E21 TGT—1818 TUBULARES PARA LAMINA 6063—T5
E22 ALU—-A-011 ESCUADRA ENSAMBLE TUBULARES 6063—T6
E23 ES—PGD3040-020 GLASS STOP EXTERIOR 6063—T5
E24 ES—-PGD3040-014 GLASS STOP EXTERIOR 6063—T5
E25 ES—PGD3040-007 GLASS STOP EXTERIOR 6063—T6
E26 ES—-PGD3040—-016 GLASS STOP EXTERIOR 6063—T5
E27 ES—PGD3040—-022 GLASS STOP EXTERIOR 6063—T5
E28 ES—PGD3040-018 GLASS STOP EXTERIOR 6063—-T5

271 0117

mey@meyengineering. com

305

P:

33027

GLAZING CONSULTANTS

MCY ENGINEERING, INC.

12781 MIRAMAR PARKWAY #301

MIRAMARI, FL.

[O]

M

M /
b
www. MCYEngineering. com

z
1
x
8 .5
8l Quw
Z O
w = o 2
Blogef
Yl o> 3
<SS T2
0l23 =8
ol=w izt
< .= = _i
O| N m w
aleg
0] ~
O
(2]
1N
5| 2
&
FLORIDA APPROVAL: N P
H E
. § 8
i WAY oY, B|gs
\¢@l aD'%-H ATIO% D Date D By
o \ .. .' P rawn rawn By
3-\..-\%& #55983 '.'*‘o' 06.07.2022 James
.'."? :-. Né\%&“ 77 ?‘-_ DRAWING NO.
£l aD22 14
§
BOM

September 01st, 2023

Sheet No.

10 OF 11




BILL OF MATERIAL

271 0117

305

P:

mey@meyengineering. com

v

3302

MCY ENGINEERING, INC.
GLAZING CONSULTANTS

12781 MIRAMAR PARKWAY #301

M /
www. MCYEngineering. com

MIRAMARI, FL.

[O]

M

COD PARTE DESCRIPCION MATERIAL

M1 ES—PGD3040-GO1 S SPACER GASKET SILICONE

M2 ES—PGD3040—-G02 S JAMB SEAL GASKET SILICONE

M3 TOR 3/8" — 16 X 2" HEX CAP SCREW STAINLESS STEEL
M4 ES—PGD3040—-G03 S JOINT GASKET SILICONE

M5 ARANDELA PRESION 3/8” WASHER STAINLESS STEEL
M6 TOR 8 X 1/2" P.H. SCREW STAINLESS STEEL
M7 80—342A S SETTING BLOCK 8045 SHORE A SILICONE

M8 ES—EL100—GO2A S GLAZING GASKET SILICONE

M9 ES—PGD3040—-G04 S BOTTOM SEAL SILICONE
M10 TOR 8 X 1”7 P.H. SCREW STAINLESS STEEL
M11 TOR 12 X 1" P.H. SCREW STAINLESS STEEL
M12 DS—983 STRUCTURAL SILICONE SILICONE
M13 DS—791 SEAL SILICONE SILICONE
M14 ES—U7530 BO1A S SETTING BLOCK 8045 SHORE A SILICONE
M15 LAM. ALUMINUN 1/8” X 1220mm x 3050 mm PANEL OP ALUMINUM
M16 TOR 6 X 3/8" P.H. SCREW STAINLESS STEEL
M17 TOR 6 X 1/2" P.H. SCREW STAINLESS STEEL
M18 TOR 6 X 3/8" F.H. SCREW STAINLESS STEEL
M19 PGD 1110 SHORT BRACKET 1 STAINLESS STEEL
M20 PGD 1200 LARGE BRACKET 2 STAINLESS STEEL
M21 PGD 1210 SHORT BRACKET 2 STAINLESS STEEL
M22 PGD 1300 LARGE BRACKET 3 STAINLESS STEEL
M23 PGD 1310 SHORT BRACKET 3 STAINLESS STEEL
M24 PGD 1400 LARGE BRACKET 4 STAINLESS STEEL
M25 PGD 1410 SHORT BRACKET 4 STAINLESS STEEL
M26 PGD 1600 TOP BRACKET STAINLESS STEEL
M27 PGD 1610 TOP ROLLER HOLDER STAINLESS STEEL
M28 PGD 1810 BOTTOM BRACKET LEFT HAND SIDE STAINLESS STEEL
M29 PGD 1820 BOTTOM BRACKET RIGHT HAND SIDE STAINLESS STEEL
M30 PGD 1830 BOTTOM WHEEL HOLDER STAINLESS STEEL
M31 PGD 1840 PIN + RETAINER STAINLESS STEEL
M32 PGD 1900 HEAVY DUTY INSIDE DEADLOCK STAINLESS STEEL
M33 PGD 8300 3” WHEEL ASEMBLY -

M34 TOR #14 X 17 SCREW STAINLESS STEEL
M35 2015 DOOR TRACK STAINLESS STEEL
M36 2015B INSTALLATION ANGLE STAINLESS STEEL
M37 2016 TRACK BRACKET STAINLESS STEEL
M38 2017 DOOR TRACK FOR 2” WHEEL STAINLESS STEEL
M39 PGD 8200 2" WHEEL ASSEMBLY -

pd
1
x
=
Al S w
Z 0
W= a 2
Ol 8k
<|=Z=ao 5 4
XNo > o
<| 2 5‘ T £
ol = w &
S| s 2 S 4
Auyg  F
™| w
) S
(D ~
Q.
(%))
w
3
FLORIDA APPROVAL: é §£
H 5
R WA, ] BE
¢¢WH f\'TI 3 Drawn Date Drawn By
.,‘?'Lo'.\ﬁ- #55 s *'v 06.07.2022 James
g :.. o DRAWING NO.
et AD22 14
- .
- L]
)
2 BOM

September 01st, 2023

Sheet No.

11 OF 11




